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Each urn contains colored balls

Eadh ball is colored RED BLUE GREEN, o YELLOW.
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t. Gwen an HMM gnd an observation seguence,

Yind the ’Proloa\o'.l'.-}j thot the obseryed
seguence  was Senerabé by the wodel.
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Define  lorward variable o i)

A i)= PO, . O, at-Sc )
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3. Gigen oan HMM 4a,d an obsewakien Sequince,

find 4he parometers so thot the probobildy of
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Tnd w40 movimize  PIAIWYP(w)

p (Alw)= prcbo. o? oCouSh ¢ abseryakion 8-‘\;en w
= Computeé %OW‘ Acoushc Models

?(W}= on\o. og— word SQQFUEnLeW
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For eadn  w= (Wi,w2, = D dhat can be formel
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A Conrinuous Speec_\n Qegogn'.zer

_  Obsesvation
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Divide the spate of (eatuce:

vectors  inko M cells. Lebel

eada cell. L o fedure

vedor belomgs 4o cell (ks

label is ¢

bil0g) = bilt) if Oc-t
e




I7
/\Cousjn'c_ M ocke\ S %or Comfmiw'h% (P (A \‘w)

MM of o word seguence =
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